Fourier Series Examples
Dr. Elliott Jacobs
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Formulas for Fourier Coefficients
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Find the Fourier series for f(x) = z°
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f(x) = 3 +7;ancosnx
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Yy = 3 — 4 cosx + cos 2x
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Calculus II: Test convergence of the following sum:
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Calculus II: Test convergence of the following sum:
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If floo x% dx converges, then by the Integral Test,
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Substitute x = m. Remember that cosnm = (—1)"



Find the Fourier series for f(x) = x + |z
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f(x) =0 for x < 0 and f(z) =2x for x >0
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For n > 0,
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For n > 0,
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The Fourier series for x + |x| is:
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